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k] (TR0
i B Eh #= (ke) =& (M) FHHE{m(F/ke)
001ESA 682 3,468,529 5,086
04= 1k 53 80,136 1,512
13 R 218 1,684,919 7,729
2152 161 831,385 5164
22F 450 106 470,610 4440
24=F 120 213,840 1,782
51 KB 24 187,639 7818
002&H1= 951 1,538,977 1,618
13/E 249 363,042 1,458
215% [ 280 490,529 1,752
22F 450 398 632,756 1,590
24=F 24 52,650 2,194
00355 60 136,080 2,268
2152 60 136,080 2,268
004HMLE 435 603,990 1,388
51 KBk 435 603,990 1,388
006 kChH 2,030 1,442,896 711
51 KRR 2,030 1,442,896 711
0072 H 4774 2,999,464 628
04'= I 54 46,656 864
215% [ 657 501,842 764
51 KBk 2,633 1,240,502 471
54F0FR 1L 1,430 1,210,464 846
008.5:Y 2,184 1,655,548 758
51 KB 1,594 938,103 589
52EE 590 717,445 1,216
010IFFES (KR) 250 69,410 278
51 KBk 250 69,410 278
012FHL 1,223 1,013,594 829
26X &R 150 105,300 702
51 KR 736 606,573 824
52EE 337 301,721 895
013ZDHHL 4542 1,427,100 314
10FE 2,296 58,060 25
24=F 1,360 782,676 575
265X ER 315 192,618 611
51K 150 91,908 613
52k & 421 301,838 717
014FEL vHL 207 184,896 893
52E[E 207 184,896 893



015MF={6LvhL 27,520 1,522,260 55
10FE 520 224,640 432
224=F 27,000 1,297,620 48
016ILA 42 17,280 411
51 KB 42 17,280 411
o17&IR 16,229 10,558,896 651
025 #H 1,450 664,848 459
04= 3 1,600 801,252 501
10F % 865 439,614 508
224=F 3,529 2,556,521 724
51K 6,793 4,457,754 656
52E[E 1,015 1,108,573 1,092
62F b 375 109,350 292
644a if] 30 19,440 648
651 & 572 401,544 702
018=h5 7,360 6,848,924 931
13ER 3,100 3,507,451 1,131
2240 458 403,225 880
24=FE 690 525,636 762
26 X &R 1,826 926,468 507
51 KB 666 653,680 982
50110 620 832,464 1,343
019&CL 5,424 3,309,818 610
138 ER 1,664 967,864 582
224 1,088 596,508 548
24=F 1,744 1,141,513 655
51 KRR 48 34,215 713
59110 880 569,718 647
0227 Dfuhh Ly 39,334 33,480,132 851
I B[#::3E] 410 460,296 1,123
04 = Ik 6,180 6,557,112 1,061
13ER 1,490 1,142,965 767
224=F 3,080 2,377,555 772
51 KBk 23,714 19,591,758 826
52E[E 4,456 3,348,502 751
56 518 4 1,944 486
027HFET LY 885 1,063,394 1,202
51 KRR 275 334,124 1,215
52&&E 6 46,980 7,830
56 548 58 135,000 2,328
66 15 546 547,290 1,002
028L &KV 302 340,740 1,128
51 KR 302 340,740 1,128
030F D=L 1,726 2,518,754 1,459
04= Ik 345 440,100 1,276
20123 8 5,729 716
24=F 20 36,720 1,836
51 KRR 1,069 1,440,396 1,347



52E[&E 284 595,809 2,098
0338 I1E3 578 561,973 972
52EE 578 561,973 972
034H M58 9,510 7,423,054 781
10F% 80 59,097 739
138 180 155,520 864
224=F 70 52,920 756
51K 8,884 6,861,866 772
52E[E 296 293,651 992
0361+ 58,623 60,658,135 1,035
ot1dtiEE 998 1,581,124 1,584
04'= I 523 742,932 1,421
10F % 448 572,000 1,277
138 m 12,010 12,100,770 1,008
224 8,725 7,741,170 887
24=F 9,494 8,966,967 944
26 AR 75 29,160 389
51 KR 23,122 24,659,706 1,067
52EE 1,436 1,935,071 1,348
54F03x L 1,692 2,280,635 1,348
641& il 100 48,600 486
037F9 7,140 8,608,403 1,206
I B[#::3E] 2,125 2,463,102 1,159
025 16 51,840 3,240
04 = Ik 684 353,160 516
10F% 150 307,800 2,052
13ER 799 982,690 1,230
224=F 350 571,878 1,634
26 X AR 68 80,784 1,188
51 KRR 2,938 3,782,569 1,287
6072 & 10 14,580 1,458
0387=5 44,463 73,089,207 1,644
04 =1, 4,604 7,759,553 1,685
10F % 2,061 3,240,404 1,572
138 6,101 10,099,184 1,655
24=F 21,177 35,580,788 1,680
51K 9,958 15,812,451 1,588
52&&E 562 596,827 1,062
0394)L)L— 2,097 1,825,421 870
224=F 80 61,020 763
51K 1,528 1,227,964 804
52E[E 489 536,437 1,097
041(3F% GE) 209 141,890 679
138 105 22,680 216
26 AR 28 51,062 1,824
59110 76 68,148 897
043= 79 1,194 1,465,560 1,227
08Tk Ik 708 883,440 1,248



51 KB 168 215,460 1,283
59140 318 366,660 1,153
0459 3'= 1,290 1,256,389 974
51 KBk 1,290 1,256,389 974
048H 7% 210 628,991 2,995
51 KB 210 628,991 2,995
051SAE 1,198 542,269 453
o1itiE& 750 374,220 499
51 KB 38 17,820 469
607 & 410 150,229 366
0521=656 1,280 1,317,915 1,030
13 R 10 14,040 1,404
51 KPR 1,100 1,120,286 1,018
52E[E 170 183,589 1,080
054 &= 232 197,301 850
51 KB 195 163,280 837
56 518 13 13,716 1,055
6516 & 24 20,305 846
057LY 6 5,680 947
51 KBk 6 5,680 947
059hh(FFE 140 143,639 1,026
51 KRR 140 143,639 1,026
0609 Y & 350 314,930 900
o1dtiEE 150 237,168 1,581
26D 200 77,762 389
0619 5L \H 10,249 5,091,985 497
02& 7 2,355 1,231,956 523
10FE 748 404,352 541
13E 2,552 1,151,172 451
19811 2,939 1,418,904 483
26X AR 500 232,201 464
51 KB 1,155 653,400 566
062%°L) Lyhs 797 1,502,556 1,885
215% [ 460 930,529 2,023
265X ER 130 154,440 1,188
51 KBk 207 417,587 2,017
063HLA 5L VH 4324 8,394,800 1,941
26X &R 30 55,080 1,836
51 KB 3,214 5,622,440 1,749
52EE 10 27,000 2,700
61F /1| 1,070 2,690,280 2514
065F DL A 7,571 3,309,497 437
025 7 2,870 696,384 243
10F% 5 2,430 486



13RE 100 216,000 2,160
26 AR 10 5,400 540
51K 3,930 1,188,540 302
52L& 30 64,800 2,160
57 LWL 50 23,220 464
60fE 5 276 561,923 2,036
61& )1 300 550,800 1,836
0667=C 116 157,032 1,354
ot1itiEE 101 130,248 1,290
04= 1k 15 26,784 1,786
0721 =A T 8,161 10,193,430 1,249
04= i}, 663 1,128,924 1,703
22% 450 4,482 4,523,202 1,009
23l B 1,549 1,813,709 1,171
24=%F 160 219,510 1,372
51 KR 1,307 2,508,085 1,919
073H M AV 4,151 4,640,249 1,118
04'= 3 308 271,475 881
138 m 240 223,431 931
24=%F 300 265,680 886
51K BR 2,232 2,331,159 1,044
52 & 1,017 1,490,184 1,465
555 HY 54 58,320 1,080
074FDZ Y 64,481 85,108,897 1,320
13ER 21,425 13,876,181 648
215%H 12 49,246 4104
22450 2,321 4,859,028 2,094
23l B 327 1,014,336 3,102
24=%F 5,940 11,483,489 1,933
51 KRR 29,406 46,459,326 1,580
52E[&E 5,050 7,367,291 1,459
075 H LAY 379 912,654 2,408
ot1dtiEE 20 19,440 972
24=%F 68 165,348 2,432
51K 225 571,050 2,538
52&&E 66 156,816 2,376
0760 & 36 25,272 702
24=F 36 25,272 702
081% D {i £ BB 66 348,667 5,283
65168 66 348,667 5,283
08319< 530 258,152 487
5911100 530 258,152 487
085F D 4th 17075 16,602,494 972
ot1dtiEE 2,582 1,278,857 495
04 3 1,918 2,685,421 1,400
087 3k 14 18,252 1,304
10+ 8 5,400 675



13T
22450
23R B
24=%F
26X #R
51 KB
525 [E
56 1R
59110

3,730
358
250

1,570

12

3,173

2,622
674
164

362,616

3,195,312
689,148
276,524

1,001,267

32,400

3,380,671

2,616,600

1,320,625
102,017

368,927,124

857
1,925
1,106

638
2,700
1,065

998
1,959

622

1,017




